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Y3002 | =H (&) 84 33, 032 972 486 11 8R 84kg
31700 F ¥ 7 90 3, 996 864 162 162 B 91l
31900 ¥ 7| 963 216 216 65 B Tkg
36800 HoXx r 72 19, 988 432 270 108 | &P T2kg
34330 B2 - 3 562 43 43 43| BN 137
34400 | k=~ k 10 3, 564 356 356 356 | B P 10kg
34100 #IK 82 2, 495 16 3 % 4108
34140 DUBEHAII 4 540 o1 ok 27 1 BW 204
34200 F§M 25 5, 400 216 | 216 216 | B 25kg
135100 | W AT A 4 1,539 486 486 378 | B 4kg
36200 EHAE 115 8, 651 108 108 32 | BN 115kg
36600 7-FsE 60 4,104 86 65 65 | B 60kg
34780 MERESHATL 159 59, 557 130 108 92 | B 52974
34800 < b 8 9,072 113 113 113 | B 80% v k
37520 AHRU%Z 9 6, 480 216 216 216 BA 303K
49470 Ry g T A—Y 5 5,184 108 108 108 | B 481H
71011 | A7 L —% 12, 096 43 43 12| B 3604
71150 LT 108 11 11 11 BA 103
30100 7TWZ A 2T 50 1,836 54 32 32 EIRE 5048 o
130300 AZ L 50 7,020 1,404| 1,404 1,404 EIF 5 — %
30300 A% L 100 8, 640 . 864 864 864 HEA 1047 — A
31100 M 90 2, 268 540 324 324 | EIE 64— 2
31200 (L R 4 2,052 2,052 2,052 2,052 HEE 1r—= |
33500 T &3 L 2 130 5 5 5 &l 244%
33810 FHHEE 4 1,512 1,512 1,512 1,512 fEIRE 14— 2%
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37440 v vbi 2 896 896 896 896 LT & 17r—2
Y3072 | NE—)—7 3 1, 647 59 54 54 | REA 3048
Y5005 4 KZEA ) 5 1,534 1,534 1,534 1,534 | K% 147 — A
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31930 Zh¥ i 6 972 | 22 22 11| K%y 6045
32800 125 'S 3 324 | 11 11 11| =i 307
34300 727 3L 35 7,560 1,620 1,080 1,080 | sEA Th— %
34460 |3 =L % & M 5 3,154 | 140 130 130 BEIR S 24,8y 7
34100 #A/1 30 1,944 756 324 108 | &1 64— A
34100 I B 30 972 | 162 162 162 | IR S 64
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